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ByniBeabHuii paxkyjabTeT 74% 31%
B 50 | 20 | 0 2 | 11| 7 65% | 10%
1. (11 -
BLII- 0 0
> |12 19 15 3 3 9 0 79% | 30%
BLII- 0 0
3 |13 20 18 4 6 6 2 80% | 50%
BLI- 0 0
4 |14 17 16 1 2 10 3 76% | 18%
0 0
5 |IMO-11 20 17 1 3 6 7 50% | 20%
0 0
6. |EM-11 7 5 0 3 2 0 71% | 43%
OiA-
0 0
7 111 7 7 0 3 4 0 100% | 43%
dakyJbTeT reoinopmaniiHuxX cucTeM i ynpabJiHHS
TEePUTOPISIMH 53% 23%
TYP-
0 0
s |11 7 6 0 0 0 6 0% 0%
I'K3-
0 0
9 |11 20 19 6 7 6 0 95% | 45%
K- 1 20| 18| 2 | 5| 6 | 5 | 65% [25%
10. 12 B
ByniBenbHO-TexXHOMOTIYHUI paKyabTeT 37% 25%
TBKB
M- 12 6 0 0 1 5 8% 0%
11. |11ck
BLII- 0 0
12 |19 14 12 4 1 3 4 67% |42%
BLII- 0 0
13. 1196 14 10 1 3 1 5 36% |33%
DaKkyJbTeT iHKEeHEPHUX CHCTEM Ta eKOJIOTil 48% 8%
BLII- 0 0
14. |18 21 20 0 2 12 6 67% | 10%
BLII- 0 0
15, |18a 18 18 1 0 12 5 7% | 6%
16. |TE-11 4 4 0 1 2 1 5% | 25%




0, 0,
17 lEK- 11 10 10 0 0 2 8 20% 0%
T3HC-
0 0,
18 111 6 6 0 0 0 6 0% 0%
dDakyJbTeT ABTOMATHU3AWIl Ta iH(opMaliHHIX
TEeXHOJIOT i 66% 26%
ITHK-
0, ()
11, TIH 13 12 0 3 6 3 5% | 25%
19. 11
0 0
20, |KH-11 19 19 10 7 2 0 100% | 81%
BIKC-
0, 0
21 111 9 8 1 2 3 2 68% | 19%
ECA-
0, 0
2 |11 7 7 1 0 2 4 43% | 14%
ATII-
0, 0
23 |11 7 7 1 0 4 2 71% | 14%
TK]I- 0 0
o4 111 11 11 0 5 6 0 100% | 45%
BEMO-
0, 0,
25 |11cx 10 9 0 0 2 7 20% 0%
IC-
11 10 10 0 1 4 S 50% | 10%
BMO- 2 ° °
26. (11
ApxiTekTypHuii pakyiabTer 73% 48%
27.|11a 21 21 6 8 6 1 95%| 70%
28. |116 19 18 3 6 3 6 6/% | 50%
29. |12a 19 19 2 6 8 3 84% | 42%
30. |126 20 18 3 5 7 3 83% | 44%
31. |13a 18 18 1 9 5 3 83% | 56%
32. 1136 20 18 4 3 2 9 45% | 25%
33. |14a 19 16 7 3 4 2 74% | 53%
34. 1146 20 17 5 S 6 1 80% | 50%
35. |15 19 17 4 7 3 3 74% | 58%
36. |16 20 17 4 6 3 4 65% | 50%
37. |17 20 19 7 5 5 2 85% | 60%
38. |18 20 18 0 2 5 11 35% | 14%
DakyJbTeT YNPABJIiHHA | IPOCTOPOBOIO NJIAHYBAHHS 52% 14%

39. |BI1I-17|21 19 1 2 8 8 52%| 14%




